








17. Construct index numbers from the following data by applying
Paasche’s method. ' :

Base Year Current Year

Kilo Rate Kilo Rate
Rs) = - (Rs.)

Wheat 10 3 8  3.25
200 ks ksl o G
Rice 2 25 3 23 '
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18. Using any algebralc method of interpolation find the populatlon

for 1971.
Age Population
(Years) (Lakhs)
1951 2522
1961 2514
1981 3168
1991 3613
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19.

20.

21.

Durmg an examination of equal length of cloth, the followmg are

the number of detects observed
. 2,3,4,0,5,6,7,4,3,2

Draw a control ch\alrt for the number of detects and comment

whether the process is under control (or) not?
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SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Define Karl Pearson’s coefficient of correlation. State the

properties of correlation coefficient.

gmie  Quremafler 2 e @l (Hneas Gsganeu aJGouu_@J 2 L6

@L@[D@.IS G]e;@&a;mﬂem LG senar &,

Calculate the: correlat_lon and find the two lines of x"egres\sion

from the following data :
X: 57 58 59 59 60 61 62 64
Y: 67 68 656 68 72 T2 69 71
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'Y:* 67 68 65 68 72 72 69 71
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